19.3 Gibbs Free Energy
Gibbs Free Energy and Temperature
0G° = AW° - TS’
) AW°> 0 .. endoffeamic i) AW’ 20 .. endothenmic
A5°>0 .. - TBS°<0 0s°<0 .. -TAS 70
Reaction o fom T expectd 1o have o AG° >0, Since Both AW’ >0 and -TDS’ 70, then AG’ 4
Honever of o cealom hﬂnﬂuﬂﬂ T codd expect oaduays & >0,
- T85° fo fecome iunaz emough Thot AG’ oo 40 Nonspanfameous, meodt-fovoned of o values of ¥,
) DN°<0 .. exolhennic ) BH°<0 .. exolhenmic
ps’<o .. -TAS’ 20 bs’r0 .. -T0S’<0
Reachion o Jou T expecked o hove @ A< 0, Sunce both D10 and - T2S"<0, then AG° will
Honever a o ceaYoun high volue of T could expent ofuays Re <o0.
- T05" 1o become Tonge emough tho G” Becomes 20, Spontameous, product-Savored of olf values of 7
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19.3 Gibbs Free Energy
Gibbs Free Energy and Temperature

Without doing any calculations, match the following thermodynamic properties

with their appropriate numerical sign for the following endothermic reaction.
2C0,(g) + Ny(g) = 2CO(g) + 2NO(g)

a) AHy, ; ”3
L

b) "j'srxn 3. =0 ﬂﬁmn = h“ﬂﬂl = T0Smm
¢) AGpq } . 4.50lowT,<0high T
d) ASuniy 5. <0low T, >0 high T

0) 1 Reachion is endoThennic. ¢ 4  Mrw20 i -TA5<0.

M 1 3 gos molecoles =7 4 gas melecules, d) 5. ASumv the reverse of AG.

ASpuy = Siproducis) - Streactomls) Spenfameous AG <O i (Sumiv 70.
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19.3 Gibbs Free Energy
Gibbs Free Energy and Temperature

Without doing any calculations, match the following thermodynamic properties

with their appropriate numerical sign for the following exothermic reaction.
CO(g) + Cly(g) = COCly(g)

a) AHog ; "3
L

b) 885 I

&) 3Gmn}=-' 4. >0low T, <0 high T

d) ASuiv | ** 5. <0low T, >0 high T
o) A.  Reachon is exolhesmic, o 5. A <0 i = TASam 20
B 2 05 mokcukes | smo‘enﬂe d 4 OSewv e umense of AG.

ﬂ":ﬂ * S(produds) = lmﬂnm‘fs]. Sponfameous AG<O i ASunw 70.
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24 1 Nuclear Reactions
The Penetrating Power of Radiation

Alpha (a)

Beta (8) —_ s

.Gamma (¥) — - : 10 cm of lead

0.5 em of lead

Particles: Energy Vs Penetration Power
The o id Alpha
3B o e Beta
E‘B & ot Positrun‘
J Gamma
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24 .2 Nuclear Stability
Band of Stability
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